
Họ và Tên: Lời giảiCộng và trừ các phân số bằng trực quan (các mẫu số khác nhau)
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Câu  trả  lờ i

1.
2⁄10

2.
61⁄70

3.
4⁄18

4.
68⁄70

5.
2⁄10

6. 13⁄18

7.
1⁄63

8.
32⁄45

9.
1⁄20

10. 138⁄63

Giải các câu hỏi.

1) 6⁄10 - 2⁄5 = 6⁄10 - 4⁄10 = 2⁄10

-

2) 4⁄7 + 3⁄10 = 40⁄70 + 21⁄70 = 61⁄70

+

3) 2⁄6 - 1⁄9 = 6⁄18 - 2⁄18 = 4⁄18

-

4) 4⁄7 + 4⁄10 = 40⁄70 + 28⁄70 = 68⁄70

+

5) 7⁄10 - 1⁄2 = 7⁄10 - 5⁄10 = 2⁄10

-

6) 5⁄6 + 3⁄9 = 15⁄18 + 6⁄18 = 13⁄18

+

7) 4⁄9 - 3⁄7 = 28⁄63 - 27⁄63 = 1⁄63

-

8) 3⁄5 + 1⁄9 = 27⁄45 + 5⁄45 = 32⁄45

+

9) 3⁄4 - 7⁄10 = 15⁄20 - 14⁄20 = 1⁄20

-

10) 8⁄9 + 5⁄7 = 56⁄63 + 45⁄63 = 138⁄63

+
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